
 

J116333 

 

 
Installation Instructions 
DESCRIPTION: SIDE STEP FOR JK 4 DOOR 

No Description Qty Specification No Description Qty Specification 

1 Side step 2 L&R 8 Clip nut 2 M8 

2 Front bracket 2 L&R 9 Lock washer 4 D6 

3 Rear bracket 2 L&R 10 Lock washer 14 D8 

4 Mid bracket 2 L&R 11 Washer 2 D8 

5 Hex bolt 4 M6x25 12 Washer 6 D6 

6 Hex bolt 4 M8x20 13 Washer 12 D8 

7 Hex bolt 10 M8x25 14 Hex nut 4 M6 

   L&R 4 Hex bolt 4 M8x25 

   L&R 5 Lock washer 4 M8 

   L&R 6 Washer 4 M8 

Installation steps:  
Step 1: Reference parts list and installation drawings, check the accessories are complete. 
Step 2: Remove your factory side step, mount the brackets to the frame with the factory screws and supplied screws. 
Step 3: Align and mount the bar onto the cradle. 
Step 4: Check for leakage on the bolts, whether or not to tighten all the bolts.  

 

 
 

 

Frame 

Rock mounting 

Side step 

Front （Shown as 

passenger side） 


